Bellwork  Hon Alg2  Friday, January 20, 2017
Solve for the variable indicated. State restrictions on the the variables.

1. QM -Y)+K=RM  Solve for M 2.CH—W;A+E=G Solve for H

3. Solve. 6(R-5)+40>4R-9+2R-1

State the solution to each compound inequality. Give your answer as a single statement, if possible.
4. 4-3x <32 OR x>10 8. y<3 AND y>6

6. m=>-1 AND m<5 7. H<2 AND HZ<5

9. State the Domain and Range of the relation shown in the graph:
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Solve each.
10. 2x-7| <11 M. x+5|=-2x+1

Use these functions for the 12-15:

flx)=x-3 glx) =2x+3 h(x)=% k(x) = x? — 2x
12. Find g(h(10)) 13. Find f{k(=5))

14. Find k(fx)). Simplify as much as possible. 15. Find h(g(x)). Simplify as much as possible.
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